* %

Minusrechnen (bis 40)

Minusrechnen

Aufgabe 1 Aufgabe 2

1. 15 - 14 = .12 - 3 =
2. 22 - 4 = 2. 21 - 4 =
3. 24 - 3 = 3. 14 - 1 =
4. 18 - 5 = 4o01F - 2 =
536 - 36 = 5 30 - 11 =
6. 25 - 17 = 6. 22 - 21 =
7o032 - 3 = 7.20 - 19 =
8 33 -31 = 8 29 - 8 =
9. 39 - 15 = 9. 37 - 20 =
0. 34 - 6 = 10. 38 - 18 =
Aufgabe 3 Aufgabe 4

T 1M - 4 = .39 -13 =
2. 36 - 4 = 2. 14 - 7 =
3. 38 -25 = 3. 33 -20 =
4. 23 - 10 = 4. 33 - 17 =
5 34 -12 = 5 12 - 5 =
631 -5 = 6. 22 - 13 =
/.30 - 5 = 7. 25 - 8 =
g 19 - 11 = 8. 32 -128 =
9.9 -1 = 9. 29 - 4 =
0. 7 - 7 = 0. 15 - 4 =

© MaxKlug.de Online Gben | Lehr-und Lernbiicher | Arbeitsbldtter | Lehr- und Lernmaterialien



* %

Minusrechnen (bis 40) | ANTWORTEN

o
Qe

Minusrechnen

Aufgabe 1 Aufgabe 2

1. 15 - 14 = 1 .12 - 3 = 9
2. 22 - 4 = 18 2. 2% - 4 = 23
3. 24 - 3 = 21 3. 14 - 1 = 13
4. 18 - 5 = 13 4. 1F - 2 = 15
5 36 - 36 = 0 5 30 -11 = 19
6. 25 - 17 = 8 6. 22 - 21 = 1
7.o032 - 3 = 29 /.20 - 19 = 1
8 33 -31 = 2 8 29 - 8 = 21
9. 39 - 15 = 24 9. 37 - 20 = 17
0. 34 - 6 = 28 0. 38 - 18 = 20
Aufgabe 3 Aufgabe 4

. 1 - 4 = 7 1. 39 -13 = 26
2. 36 - 4 = 32 2. 14 - 7 = 7
3. 38 - 25 = 13 3. 33 -20 = 13
4. 23 - 10 = 13 4. 33 - 17 = 16
5 34 -12 = 22 5 12 -5 = 7
631 -5 = 26 6. 22 - 13 = 9
7. 30 - 5 = 25 7. 25 - 8 = 17
8 19 - 11 = 8 8 32 -128 = 4
9. 9 -1 = 8 9. 29 - 4 = 25
0. 7 - F = 0 0. 15 - 4 = 11
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